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BACHELOR OF COMMERCE   
(General) (B.COM.) (CBCS) 

Term-End Examination 
December, 2024 

BCOC-138 : COST ACCOUNTING 

Time : 3 Hours     Maximum Marks : 100 

Note : Answer any five questions. Each question 

carries 20 marks. 

  

1. (a) How do Cost Accounting records help in 

the planning and control of business 

operations of an enterprise ? 10 

(b) Explain the role and responsibilities of a 

Cost Accountant in a Manufacturing/ 

Service organisation. 10 
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2. (a) Define the term ‘Material Control’. Discuss 

the important requirements of an efficient 

system of material control. 10 

(b) Explain the ABC technique of inventory 

control with suitable examples. 10 

3. Discuss the LIFO and FIFO methods of pricing 

of material with suitable examples. 20 

4. What do you understand by Labour Turnover ? 

What are its main causes ? Describe  

various measures to minimize the labour 

turnover.  4+10+6 

5. (a) Discuss various principles of 

apportionment of overheads. Give a few 

examples of the bases used for 

apportionment and re-apportionment. 10 
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(b) From the following information, calculate 
the cost per kilometre of a vehicle : 10 

Value of vehicle ` 30,000 

Licence fee per annum ` 1,000 

Insurance charges p.a. ` 200 

Garage charges p.a. ` 1,200 

Driver’s salary p.a. ` 400 

Cost of petrol per litre ` 2 

Km run per litre ` 16 

Tyre and maintenance  
per km 

 
` 0.40 

Estimated life period 3,00,000 km 

Estimated annual km 12,000 km 

Ignore interest on capital. 

6. A Radio manufacturing company which 

commenced business on 1st January, 2023, 

supplies you with the following information  

and asks you to prepare a statement showing 

the profit per Radio set sold. Wages and 
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materials are to be charged at actual cost, 

works overhead at 75% on wages and office 

overhead at 30% on works cost. You are also 

required to prepare a statement  reconciling the 

profit as shown by Cost Accounts with the 

profit as shown by Profit & Loss Account for the 

year ending 31st December, 2023. 

There were no Radio sets in stock, or in course 

of manufacture on 31st December, 2023 and the 

number of Radio sets sold during the year was 

540. 

The particulars are given as under :        ` 

Materials per set 240 

Wages per set 80 

Selling price per set 600 

Prepare the necessary statements, showing the 

actual profit for the year, if the works expenses 

were ` 32,160 and office expenses ` 61,800. 20 
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7. Product A yields by-product B. The joint 
expenses of manufacture are – Materials  

` 20,000; Labour ` 10,000; Overheads are half 
of labour charges. Subsequent expenses are as 
follows : 

 A B 
` ` 

Materials 10,000 5,000 
Labour 15,000 10,000 
Overheads 4,000 3,000 
Selling price — 30,000 
Estimated profit on sale — 25% 

Prepare Process Accounts and show the 
apportionment of joint expenses. 20 

8. Urvashi Enterprises undertook a contract for 

construction of a building. The contract price 
was ` 5,00,000 and the contract was 

commenced on 1st January, 2023. The following 
expenses were incurred during the year : 

 ` 

Materials purchased 80,000 

Materials issued from stores 1,10,000 
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Materials received from other 
contracts 25,000 

Wages paid 90,000 

Indirect expenses 25,000 

Plant and Machinery 1,00,000 

Materials returned to stores 5,000 

Materials returned to other contracts 7,000 

Materials lost by fire 3,500 

Plant and Machinery stolen 10,000 

Materials on site (31-12-2023) 4,000 

Plant on site (31-12-2023) 8,000 

Outstanding wages (31-12-2023) 5,000 

Other outstanding charges  
(31-12-2023) 2,500 

The contract was completed on 31st December, 
2023 and the contract price was duly received. 
Prepare Contract Account and Contractee’s 
Account.   20 
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      BCOC-138 

okf.kT; esa Lukrd (lkekU;) (ch- dkWe-)  

(lh- ch- lh- ,l-) 

l=kkar ijh{kk 

fnlEcj] 2024 

ch-lh-vks-lh--138 % ykxr ys[kkadu 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % fdUgha ik ¡p iz'uksa ds mÙkj nhft,A izR;sd iz'u  

20 ds vad gSaA 

1- (d) ykxr ys[kkadu fjdkWMZ fdlh m|e ds O;olk; 

lapkyu dh ;kstuk vkSj fu;a=k.k esa dSls enn 

djrs gSa \ 10 

([k) ,d fofuekZ.k@lsok laxBu esa ykxr ys[kkdkj  

dh Hkwfedk vkSj ftEesnkfj;ksa dh O;k[;k  

dhft,A  10 
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2- (d) ̂lkexzh fu;a=k.k* 'kCn dks ifjHkkf"kr dhft,A 

lkexzh fu;a=k.k dh ,d dq'ky iz.kkyh dh 

egRoiw.kZ vko';drkvksa ij ppkZ dhft,A 10 

([k) bUosaVªh fu;a=k.k dh ,- ch- lh- rduhd (fof/) 

dks mi;qDr mnkgj.kksa lfgr le>kb,A 10 

3- mi;qDr mnkgj.kksa ds lkFk lkexzh ds ewY; fu/kZj.k dh 

LIFO ,oa FIFO fof/;ksa ij ppkZ dhft,A 20 

4- Jfed vkorZ ls vki D;k le>rs gSa \ blds eq[; 

dkj.k D;k gSa \ Jfed vkorZ dks U;wure djus ds 

fofHkUu mik;ksa dk o.kZu dhft,A 4$10$6 

5- (d) mifjO;;ksa ds foHkktu ds fofHkUu fl¼kUrksa ij 

ppkZ dhft,A mifjO;;ksa ds vuqHkktu ,oa 

iqufoZHkktu ds fy, mi;ksx fd, tkus okys 

vk/kjksa ds dqN mnkgj.k nhft,A 10 
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([k) fuEufyf[kr lwpuk ls ,d okgu dh izfr 

fdyksehVj ykxr fudkfy, % 10 

okgu dk ewY; 
` 30,000 

izfr o"kZ ykblsal iQhl 
` 1,000 

izfr o"kZ chek O;; 
` 200 

izfr o"kZ xsjkt fdjk;k 
` 1,200 

izfr o"kZ Mªkboj osru 
` 400 

izfr yhVj isVªksy dh dher 
` 2 

fdyksehVj pkyu izfr yhVj 
` 16 

izfr fdyksehVj Vk;j vkSj 

vuqj{k.k O;; 
` 0.40 

vuqekfur thoudky 3,00,000 km 

vuqekfur okf"kZd fdyksehVj 12,000 km 

iw¡th ij C;kt dk è;ku ugha jf[k,A 10 
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6- ,d jsfM;ks fuekZrk dEiuh ftlus 1 tuojh] 2023 dks 

O;olk; vkjEHk fd;k] vkidks fuEufyf[kr lwpuk 

iznku djrh gS rFkk vkidks csps x, izfr jsfM;ks lsV 

ij ykHk fn[kkrs gq, fooj.k&i=k cukus dk vkns'k nsrh 

gSA ikfjJfed ,oa lkexzh okLrfod ykxr ij] 

dkj[kkuk mifjO;; ikfjJfed ij 75% rFkk dk;kZy; 

mifjO;; dkj[kkuk ifjO;; ij 30% pktZ djuk gSA 

31 fnlEcj] 2023 dks lekIr o"kZ ds ykHk&gkfu [kkrs 

}kjk fn[kk, x, ykHk ls ifjO;; [kkrs }kjk fn[kk, x, 

ykHk dk feyku djrs gq, vki ,d fooj.k&i=k rS;kj 

dhft;sA 

31 fnlEcj] 2023 dks dksbZ jsfM;ks lsV u rks LVkWd esa 

Fkk vkSj u gh mRiknu dh izfØ;k esa gS rFkk o"kZ esa 

csps x, jsfM;ks lsVksa dh la[;k 540 FkhA 10 
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fooj.k fuEufyf[kr gS %      ` 

lkexzh izfr lsV 240 

ikfjJfed izfr lsV 80 

foØ; ewY; izfr lsV 600 

o"kZ dk okLrfod ykHk fn[kkrs gq,] ;fn dkj[kkuk O;; 

` 32]160 rFkk dk;kZy; O;; ` 61]800 gks] rks 

vko';d fooj.k&i=k cukb;sA 20 

7- mRiknu A ls miksRikn B fudyrk gSA fuekZ.k ds 

la;qDr O;; gSa & lkexzh ` 20]000_ Je ` 10]000_ 

vizR;{k O;; Je dk vk/k gSA ckn ds O;; 

fuEufyf[kr gSa % 

 A B 
(`) (`) 

lkexzh 10,000 5,000 

Je 15,000 10,000 

mifjO;; 4,000 3,000 

foØ; ewY; — 30,000 

foØ; ij vuqekfur ykHk — 25% 

izfØ;k [kkrs cukb, vkSj la;qDr O;;ksa dk c¡Vokjk 

iznf'kZr dhft,A 20 
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8- moZ'kh baVjizkbtst us ,d Hkou fuekZ.k dk Bsdk  

izkIr fd;k FkkA Bsdk ewY; ` 5]00]000 vkSj  

Bsdk 1 tuojh] 2023 dks izkjEHk gqvkA o"kZ ds nkSjku 

fuEufyf[kr O;; gq, % 

 ` 

lkexzh Ø; dh 80,000 

LVkslZ ls fuxZfer lkexzh 1,10,000 

vU; Bsdksa ls izkIr lkexzh 25,000 

etnwjh Hkqxrku dh 90,000 

vizR;{k O;; 25,000 

IykaV o e'khujh 1,00,000 

LVkslZ dks ykSVk;h x;h lkexzh 5,000 

vU; Bsdksa dks ykSVk;h x;h lkexzh 7,000 

vkx ls u"V gqbZ lkexzh 3,500 
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pksjh x;k IykaV o e'khujh 10,000 

31&12&2023 dks gLrLFk lkexzh 4,000 

31&12&2023 dks gLrLFk IykaV 8,000 

31&12&2023 dks vnÙk etnwjh 5,000 

31&12&2023 dks vU; vnÙk O;; 2,500 

31&12&2023 dks Bsdk iwjk gks x;k vkSj Bsdk ewY; 

izkIr gks x;kA Bsdk [kkrk vkSj Bsdsnkrk dk [kkrk 

cukb,A   20 

× × × × × × × 
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